



Nome: _____

Data: _____ Punteggio: _____

$$\left(\frac{1}{2}\right) + \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{5}\right)^0 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{3}\right)^0 - \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^3 - \frac{1}{3} =$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{5}\right) + \frac{3}{5} =$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{3}{4}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{2}{5}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^3 + \frac{1}{6} =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(\frac{1}{2}\right) + \frac{1}{2} = 1$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{21}{64}\right)$$

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{3} = \frac{19}{48}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{2}{5}\right) = \frac{11}{40}$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{5}\right) = \frac{3}{10}$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{437}{1080}\right)$$

$$\left(\frac{1}{5}\right)^0 + \left(-\frac{3}{4}\right) = \frac{1}{4}$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{6}\right) = \frac{19}{48}$$

$$\left(-\frac{1}{3}\right)^0 - \frac{3}{5} = \frac{2}{5}$$

$$\left(-\frac{1}{2}\right)^2 + \frac{2}{5} = \frac{13}{20}$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{4}\right) = \frac{15}{64}$$

$$\left(-\frac{3}{4}\right)^3 - \frac{1}{3} = \left(-\frac{145}{192}\right)$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{187}{320}\right)$$

$$\left(-\frac{3}{5}\right) + \frac{3}{5} = 0$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{6} = \left(-\frac{35}{216}\right)$$

$$\left(-\frac{3}{4}\right)^3 - \frac{1}{2} = \left(-\frac{59}{64}\right)$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{3}{20}\right)$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{483}{500}\right)$$

$$\left(-\frac{2}{5}\right) - \left(-\frac{1}{2}\right) = \frac{1}{10}$$

$$\left(-\frac{1}{6}\right)^3 + \frac{1}{6} = \frac{35}{216}$$